% SIS BIET M 12008

20 RHR

2008F JEEHE .
= A BE & B B
O 2170, 691 A (&) EHREEER, BHEUHRERDHR
FEFEPAEA 16 &  7.2% (3.8%)| 1000
FERIO-SIFEBPEBRIOER 0 % 0.0% (8. 4%)
FERHER (F) 04 05  '06 | '07 08
ARG 230 235 259 225 | 221
AR1075 %= 10.4 10.7 11.8 10.3 10.2
FERMEKEESREER 112 84 92 90 98 100
AD1075 5= 51 3.8 42 41 45 "
HEZEDMN - FEER, 20084 R
0% ] % 100 =
0-29  30-59 60-79 80+ 0-29 3(?—59 60-79 80+ _E[<
E3: 4 | i 25 ‘ 15 ' 1 10
E5A ‘ 2 5ﬁ:5‘ 13 ‘ 15
5 ZHGIEREE
L, ERERIBITREE (998FLR)
FEREERMRETREOEBNIMALLES 1
% (FFHRABEKL< 1) 62 70 80 90 00 08
40
30 | HEFSOm™ R B EIERKPPZAZ N Z =4FI0 5 E&
% (eEEL - FHEBK<T)
20 | o 7420.5 100
- [ u 80 —= %
0 - )/*/*’/&74'4~0 71.0
, , , ’ ) 64.4 64. 4
04 05 06 07 08 60 o ;=¥ 04 4—
% FEGZMERTEBERE
100 40
. . . ] .373‘ ' 04 05 06 107 08
80 3=
46 _x #7129
60 w647 B4 2 SRR B RIS 41 E A E O A AL
100% ——
40 e 14 R
' 04 " 05 ' 06 07 08 s N RS
0 FEEMEZTEEREHERIEE (Bit/lz1) Be 12 8 15
100 . . - - - 75% | ;
80
60 L X/mwo
40 39.8 50%
20 %22.0#21_3
' 04 ’ 05 06 107 08
FEGMEREEBEPERRZERERA DTS
% 25% -
100 | . . 46
34
- 33
50 —
0%
% 2020074 2006 2007
. &3 5—0 9.1 n=(9, 421) (88) (88)
' 04 " 05 ' 06 107 08 OfY BRE O%K BN O 01258 OHEFRE
——EHE " BREH X %
04 05 06 07 08 "07 2
TREOENERFE®G 66 29 2.4 341 421 AESRESECARDIM T RE (B) 282 (273)

FIEBABTE %) .3 00 39 45 30 AIF B HEMERERRE ARMFRRE (B) 83 (65)



